Spiel 1 Spiel 2  Gesamt

Spiel 047 19:15|E 1 HIESL Christoph 58 + 64 = 122|0 #
E2 STADLER Herbert 60 + 62 = 122|00
Spiel 050 19:42|E 3 UNTERSTEINER Johann 55 + 65 = 120
E4 WIMMER Gottfried 57 + 59 = 116|#
Spiel052 19:57|[E5 GRABENSCHWEIGER Martin| 63 + 55 = 118|000
E 1 HIESL Christoph 56 + 65 = 121 [#
Spiel 054 20:13|E 2 STADLER Herbert 64 + 56 = 120(|# # #
E 3 UNTERSTEINER Johann 58 + 63 = 121|0 #
Spiel 056 20:32|E 4 WIMMER Gottfried 60 + 57 = 117{0
E5 GRABENSCHWEIGER Martin| 53 + 48 = 101|0 O #
Spiel 058 20:47|E 1 HIESL Christoph 49 + 59 = 108 [#
E 3 UNTERSTEINER Johann 66 + 62 = 128[##0
Spiel 060 21:05|E 2 STADLER Herbert 66 + 50 = 116|#
E4 WIMMER Gottfried 48 + 58 = 106|#
Spiel062 21:23|E3 UNTERSTEINER Johann 57 + 61 = 118|##0
E5 GRABENSCHWEIGER Martin| 55 + 58 = 113|#
Spiel064 21:41|E4 WIMMER Gottfried 48 + 42 = 90
E 1 HIESL Christoph 55 + 59 = 114[0#0
Spieloes 21:59|E5 GRABENSCHWEIGER Martin| 44 + 55 = 99|#
E2 STADLER Herbert 54 + 47 = 101|# 0




